SAMPLE QUESTION MATHEMATICS

Class: X
Time : 3 1/4 hrs                                                                                                            Marks :80
General Instructions
1. All questions are compulsory

2. The question paper consists of 25 questions divided in to three sections A, B and C .Section A 

   contains 7 questions of 2 marks each .Section B is of 12 Questions of 3 marks each and section

   C of 6 Questions of 5 marks each

3. There is no overall choice .However ,internal choice has been provided in two questions of two   marks each, two questions of three marks each, two questions of five marks each 
4. In question on construction ,drawing should be neat exactly as per the given measurements.

5. Use of calculators is not permitted.

1. solve the following system of linear equations: 

              3x - 5y = -1, x - y = -1 

                                   OR

           Find the value of a and b for which the following system of linear equations has   

             Infinite numbers of solutions: 

                  2x - 3y = 7
            (a + b)x - (a + b - 3)y = 4a + b.)

2. The polynomial x4 +bx³ +59 x² +cx +60  is exactly divisible by x² +4 x +3. Find the values of b and c. 

                        OR

           For what value of k, the g.c.d. of x2 + x - (2k + 2) and 2x2 + kx - 12 is x + 4?

3. What is the additive inverse of a2 + 1/a2 - 1? 

4. Find 11th term of 1/2, 3/4, 1, 5/4, ------

5. . A table is available for Rs. 1800 cash or for Rs. 600 cash down payment followed by two monthly installments of Rs. 610 each. Compute the rate of interest charged under the installments plan. 

6. Tickets numbered from 1 to 20 are mixed up together and then a ticket is drawn at random. What is the probability that the ticket has a number which is a number of 3 or 7?

7. In the adjoining figure. PQTS is a cyclic quadrilateral and O is the centre of the circle. Find 
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8. . In the given figure, DE || AC and DC || AP, prove that 
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              OR

 In [image: image3.png]AABC, £4



is aculte, BD and CF are perenducular on AC and AB respectively. 

Prove that   AB X AE = AC X AD 

9. Construct a triangle ABC similar to a give triangle PQR with QR = 6cm, PQ = PR = 5cm. Such that each of its side is 6/7th of the corresponding sides of the triangle PQR. Also draw the circumcircle of triangle ABC.

10. Evaluate: [image: image4.png]4(sm‘30“+:os‘so“)—§(sm’so“ cos?45?)+ +5sin? 60°
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11. The volume of two spheres are in the ratio 64 : 27. Find their radii if the sum of their radii is 21cm.

12. Find point (or points) which are at a distance of [image: image6.png]


10 from the point (4
3)
given that the ordinate of the point (or points) is twice the abscissa

13. Show that the points (0, 1), (2, 3), (6, 7) and (8, 3) are the vertices of a rectangle. 

14. A man earns Rs 600 per month more than his wife. One tenth of the man’s salary and one sixth of the wife’s salary amount to Rs. 1500, which is saved every month. Find there monthly expenditure.  (VIKRANT AGGARWAL  ,LUDHAINA 09915089502)
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16. The hotel bill for a number of people for overnight stay is Rs 4800. If there were 4 more the bill each person had to pay would have reduced by Rs 200. Find the number of people staying overnight. 

17.  If the equation (1 + m2) x2 + 2 mcx + (c2 - a2) = 0 has equal roots,                                   prove that c2 = a2(1 + m2) 

18. A bungalow is available for Rs.24,00,000 cash down payment and ten equal monthly Instalment of Rs.3,30,000 each. If the interest charged by the builder is 12% per annum, Find the cash price of bungalow.

19. Find the value of p if mean of the following distribution is 7.5. 

	x
	3
	5
	7
	9
	11
	13

	y
	6
	8
	15
	p
	8
	4


20. A girl 1·6 m tall is 20 m away from a tower and observes that the angle of elevation of the top of the tower is 60°. Find the height of the tower. 

21. A bucket is in the form of a frustum of a cone and holes 28.490 litres of water. The radii of the top and bottom are 28cm and 21cm respectively. Find the height of the bucket

                 OR

     A spherical cannon ball, 28cm in diameter is melted and cast into a right circular conical mould, the base of which is 35cm in diameter. Find the height of the cone.

22. . Bisectors of angles A, B and C of a triangle ABC intersect its circum circle at D, E and F, respectively. Prove that the angles of the [image: image8.png]MADER
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, respectively.

23. . If two sides of a cyclic quadrilateral are parallel, prove that 

A) The remaining two sides are equal and 

     B) Both the diagonal are equal

OR

State and prove Pythagoras theorem

24. The adjoining pie-chart shows the number of students of a school using different modes of travel to school. If 360 students come to school on bicycle, answer the question given below: 
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(i) How many students are there in the school?
(ii) How many students come to the school by school bus?
(iii) How many students travel by taxi to reach the school?
(iv) What is the ratio of students coming by school bus to those who come on foot? 
25. The annual income of Kapil (excluding HRA) is Rs. 3,85,000. He contributes Rs. 14,500 per month in provident fund. How much should he pay annually towards LIC premium to get the maximum rebate? Find the income tax to be paid by Kapil in the last month of the year if he paid Rs. 1900 per month as income tax for the first eleven months.

	For male persons (below 65 yrs)
	For female (below 65 yrs)
	For senior citizen

	TAXABLE INCOME
	INCOME TAX
	TAXABLE INCOME
	INCOME TAX
	TAXABLE INCOME
	INCOME TAX

	Upto Rs. 100000
	NIL
	Upto Rs. 135000
	NIL
	Upto Rs. 185000
	NIL

	Rs. 1lac to Rs. 1.5 lac
	10% of income exceeding Rs. 1 lac
	Rs. 1.35 lac to Rs. 1.5 lac
	10% of income exceeding Rs. 1.35 lac
	Rs. 1.85 lac to Rs. 2.5 lac
	20% of income exceeding Rs. 1.85 lac

	Rs. 1.5 lac to Rs. 2.5 lac
	Rs. 5000 + 20% of income exceeding Rs. 1.5 lac
	Rs. 1.5 lac to Rs. 2.5 lac
	Rs. 1500 + 20% of income exceeding Rs. 1.5 lac
	More than 2.5 lac.
	Rs. 13000+ 30% of income exceeding Rs. 2.5 lac.

	More than 2.5 lac.
	Rs. 25000+ 30% of income exceeding Rs. 2.5 lac.
	More than 2.5 lac.
	Rs. 21500+ 30% of income exceeding Rs. 2.5 lac.
	
	

	a. 10% of surcharge applicable if the taxable income exceed Rs. 10,00,000

b. Educational cess of 2% on the tax payable including surcharge wherever applicable.


